Algebra 2 : Name: KQ"\I
Chapter 6 Exam Review !

2) Solve the system of equations.

b 2x+y—3z=-12
% S5x—y+z=11
C x+3y—2z=-13

AYZy 45 =32 = -11 2% 1Sy -3y 433 - 33
85—y vl C) v A3y =

ORI - W AT

; @32){ ~ 27 = "fl)“ — e ‘ |

=39 | :(\\»“2»“*”

3
3,‘* | 9 20054y -3 o
R
NN R Al e B e
T70y-22=-1 y ctes-in
T ~22=-)| e le
“22=-% :
[ 2=4

3) Find an eqﬁm for the parabola in standard form that passes through the points (=1, 10), (0, 5),
and (2, 7). |

,XI:&X’L—\—\OK*-C |
b= &) FbtNrC @ i10sa-h +C I0=a-b +g>

s-a(elth(ore @®[=¢l ®[5=-t
7:'a(z)l+\o(z)+c @'l:'—m)erJrc, 1= '—laJr?_bj*g

Q-@ \0 = 2% 5-a-b
2= Yal+2b -9 -2
@ "?; \/: QXL'BK +5
14 =bo 3=7h
e 6 IR |
Q=A, ‘“f3:
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2517 2 log, (1) = X

4) Solve each equation to the nearest thousandth.

a) 2¥=17 v = \Oj(m‘\ b) 5(3x+1)=§§.

07 s 5
(277 = !oﬁat/ 3(2) | ‘
/" lﬁqfi’) Oﬁ (17) /\gji =17 oR §0Q3( W‘): s+l
0 - - L V \ At q ! o |
oq/? 0361\ Qw LOG\B = ()37 ;oﬁz(vm“,-{:)(
N ailog3 = legn) g
: c) 1og3(x+l) 2 ¥ CurnGE Frow Lok — Ioj(?) lo3(3) |

/ . CsRpm D EXPNCNT'AL Coftm,

352 xel gz & bl XF S log (')
9 = x +| | log(3)

B=x3 X=log() _ | = 1.579

’ . log(3)
5) Multiply/Divide and simplify. S L’;‘f:’j}

REMEMBER To FacTor FIRST! !
2) 3x?~5x-2 2x? —5x b) x* =1 x +x*=2x
237 —11x+15 37 — 52 —2x > X (3x"-5x ~2) Z—6x-7  x~1

}}’/\)(* 'L) M x o xT

MKX 3) X(?’KH)C//ZS KL—“T‘T - XS*XL’%’( (—i(xlh(—L)
(xx0%0) X7 |

(Do) X () (%)

- 3 /’,\’\,\
6) Add/Subtract and simplify. % e Common ( % X—VL)
x—-9 x+3 N x +5x+6 x+2
X2 \ (¢-3) + Zx (__)_SJ_(_?_)_
(eatesy w3 (-3) wa)um (i) (x+5)

X+2 ¥-3 / 4 y 2x(x+3)
, (xx3)ox4) v(.x+3)()u7.)

(x+3)(x-3) — (x+3)(x-3)
XA —/(X-z) S

—

(x+3)(x-3)

41 2y(x43) 442" e
(x43)xAL) (x+3\u+2)

lxl-'»(p?\*q Z(X 2)(4—7,) 2 1Xx,\.l _—}
‘(Q:e Yo ) (x4 3)(xr?) T (a3 #2)




=L Selyirg & /ij egua—a’»uv-

7) Solve. ,M&(flog(szS it mulhple loj_f - "Hte cane
(—2 2) =5 sidg, fov rst uge l‘j proper-ies
lﬂﬁlo X' ) = S , o rewride 45 & gagle log. Then
‘5¥—/,;_/ 50,000 ={x Choose #0115 exporertsal form
0" " ' SRV ar . volvt,
100,000 = 2_11 \7,23.(,0’,& =¥ 3
2 2. o e/

8) An exponential function y = a(b)x passes through (3, 7.5) and (4, 6.25). Find the equation of the

function. Y= a.)o* (3,7.5) (4, 4.25) * Create o sqsiem of
. e,%owh‘m.s; -l'*tev'\y-*fﬁ'l“"e

75=ab (.25 =ab . fe a kb
.25 =qb
+ 3 7.5 =a(?)
75= +‘b 125
5 = — Q
S _ b 26
z =
' =\ 12.9¢ = o
\\/2,11% (z;)
Answers
| 2) (1,-2,4)
3) y=2x—3x+5 | 4a) x=4.087
4b) x=1.579 : | 4c) x=8
1 | R o
e RN
7 x= 223.607, . 8) y= 12.96(%)x

N



Chapter 7 — Final Exam Review

Algebra 2 Name

Find the missing sides of the right triangle.

Mﬁ\

7-6.

7-54. Find the coordinates of point P-and Q on the unit circle.

p(0:64 ; 011) kb3, 6.94).
(cos 50, 5ia50) (cos 11D, Sin o)

7-62. Shira was riding The Screamer when it broke down. Her seat was 53 horizontal feet from the central support

pole. What was her seat’s angle of rotation? Is there more than one possible solution?

. o
—\22 Se. C,bS 6 - [00
= 3
'7\1 6: QoS—‘( (To
\
|80 360
2382 \J -
238 € <« 302°

7-53. Use the Pythagorean Identity to find the exact coordinates of a point in the{flrst éuadrant&on the unlt circle that

has SmG—T. COS e ,\..s\f\le - \ |
T "
Taly) =)
) " O o
¥ * % - Te

7-110. For an angle & in the third quadrant, cos@ =—2

without using a calculator. \7_> i \' '\
a. sinf 6 b.
am— A" N
64 N
~ M
o (UM i e V

\ 48

"I ) )
“ | b9

:

V)

|on

b= 58°122° 238", 302"




7-117. The graph at the right was made by shifting the first cycle of y =sin x to the left

¥
a. How many units to the left was it shifted? 7 1T
M units o +he lef+ - " %
, 44
b. Transform y =sin x to represent the graph in pari(a

e

The L Gueton would be ﬁ_ s.n(x -MT)
W

7-129. Write an equation for each graph.

a b
AR /TN
el = T SN

R

Yk sin (Y-'L’L\;) ey N = 1.5;/@9

(%) + 6.5

- <l X+ = -\-O:S
8. Graph the equation y=38in(x——)from —7 to 37. N = |5 - 5'(\( 'L)

7- 40 Find thexand y mtercepts of the quadratic function y = 3x? +6)()
-k = ~bE( b -Hac

Qe

x--(o“‘\l ) - '+L3)(l)

23)

\(:-Qi\[ﬁ' - -t 26
G L




10. Write the equation y=x? +4x—17 in graphing form. Identify the vertex and y intercept.
¥ Completing the Sqwa-rc |

V=X 24 -7 > Ytai-= X hix 4 /‘\/V
o +17 (x+2) (x+2) ecte
Jar s X i bemt T )
vt = ) ety \] -(wz) -2l 7 —:d- (0,17) 3
— B S S N
11. Use the graph to help write its equation in graphing form Estimate the x—mtercepts
| T o
7] Y = a(x-\)“+k Qq ) is verkex
\\ N (:p r?.)
2 - W A1 1-7.
3 E0NY) \/~KL ) P[%i/\vu‘w‘pﬁ’
.<-s 4 3 —z\-ll 2nn i \ = &(0—\—\-3’1-‘?— Lh \4) Hhen a rord s
\‘Z‘; . Pciv\‘\' 'G'W Po_ru‘;o[‘.""ﬂ
(—1-2); ] 3 a \ ‘ Sol\rt -cu(‘“CL .
5 KA
Estmates for X-int maq vary. g : W

7-82. Write the equation in graphing form. Identify the vertex and axis of symmetry.

Comple_-\—mg He square wf ‘2

- \
—-a.J:., > lgx:rii ﬁ N+l = 3(*"3)1 - erkex)
q221 N-26 = 3x*-18x | ~| — | | (3,-1)
l N-26 = 3(x*-6x) ‘ \/ = 3(x-3)*~\ A\o‘sﬁ
27 Ay 26 = 3(x*-kx+ 1)

Y+ = 3(x*-Gx+a) —

13. Graph the equation y—;—25in2x+2. O tataiaon t nes
Amp \ L \
Period . T = 17

(ugx—h e
SIMQ\—

- -2 n2
. . . .14 . .

. . SJLI
._2.............Ph;L:{‘—‘\'"N"“'Q—

nl 3n/2 n 5n/2 Inx

o e
s e SO min b O




14. Convert each of the angies to radian measure.

a. 40°, 7T - 72 . oIl = : . 300°, I~ 300 o
180 SRR o 180 180

T WMD ‘/5",-&)-0&3

15. Convert each of the angles to degree measure.

. 97,180 9.0 27 JO_2-/80 D3t 80 _ /3./80

4 ' s o s 10 7 - 2
Solutions to Chapter 7 Final Exam Study Guide '

& 1
7-6. / ]% ": & 7-54. P(cos50,sin50) — P(0.64,0.77),
;) ' Q(cosllO,smllO)—)Q(—0.34,0.94')
2

7-62. 58°,122°, 238°,302° 75 (E4)

7-110. a.) =5 b) S

7-129. a) y= sm(x——)+2
b) y=15sin(x+5)+0.5
or_y 1.5¢cos(x)+0.5 -

"7-46. x: (#,O) (—'3;—‘/5,0) y: (0,1)

0. y=(v+2) =21
V:(=2,-21), Y —int (0,-17)

y=3(x+1) -2
" (=02,0)(-1.90)

L 12
7, Y7303
V:(3,-1)a0s.x=3

14, a.z b”—ﬂ cS_;r 15. a.405° b.72° ¢.234°

9 18 3



Algebra ll

can solve polynomials! ©
Chapter 8 Exam Review

e degree
0dd frchons have

‘ 1
1) Without using a calculator, answer the following questions about
f@)=-2x*(x=3)(x+5)(x—4)"

340+ + 2
a) What is the degree of the polynomial?

3.’- /_’L:’ +7 _ 7“ de—jm¢ ................ .

b) Is the orientation positive or negative? . - . \. ..o Lo

3 . o - Ce
"'Q_yl \,\ij_\..\rg_ oﬁu,pu,-}-‘av\ SR U

c) How many different roots are there? W45 6 7 8. 910 ¥

0,3,-5, %  Four dittecent o\ fTI I
_ rosts
d)WhataI’ethEI’OOtS? ......................

-0 (hiphe roet) 3,~5 } (doctle root) ;555:::,55::::::::.:“:::

e) Sketch a:graph “ejad—\\r?« ,
‘ o entedion
. " oe$ dowsn t
S , o gl
2) Write the equation for the given situations. : T o
a) A polynomial with roots at -4, -3, and a double root at 2 that also passes thrbugh (3; -14).
¥ Turn reots 1k fadkors. Y za (%) (x+'3)(x—2.)7‘ root'  Lachse
| Then create 2gatian : - XA4)
b “Mza(z)ae)3a) O -
%sr fanchion . Tncude 3 (xA3)
-M = a (ML) (Y 3
"ot Fnd by pwagig 4= Hla | 2an) (x-2)
"\ 4 nm roo‘\‘ ?b;ﬂ‘\’ 49.' “l‘l ‘ m A~
ot Se\lul
Q"L:‘% | Rt ; “a Q: ’(xm)b«n)(le,?
o Q
b) A polynomial with roots at 0, 1, 4, and -5 that also passes through (5, 800). S

roet Lockec: Y= o % (%- \)(x—q)ou—‘s)

o X Boo=a(5)(5-1)(5-u)(545) 5
S | (x-1) . 800 = o (5)(4) (1){(16) (/'(\/\/'Y'MN‘-“\
S L YN | Y= tx (x-1)(x-4) (X’LS)\}
-5 ( x+5S) 200 260 (’\—/\/\/\,W




Algebra i

Y Pormow brr Fhat e ren &xpngvjf

divisible b4 Y are &3W—L 4o 9.

Chapter 8 Exam Review <5i"'f’f~£'1) Cuen expements ot di wissble L'_, “l”
a) z'“g o - b)(3-2i) = (3-2)(3-2i) o) (6-5i)(2+3i) egusl

ey \ 9-bi i +44° 12 +180 100 ~15C°

-l- U = 7-¢i ““‘L'(") Ja+180-100-15(1)

' ’ Jatip, ~100+15

d) (2i)" (54) . e) (?.\:L7{)+(—3{+5;) *

4;*(50) 24(3) =] ¥ This is adding ! |
g(-1)(5¢) T4 5 =120 Not mul+plying e

-4 (5

4) Write aJ p055|ble equation in standard form that has the given roots. . ro.‘o‘\'S ‘ w y
2% —3A2
DB gyxazi)(xoz) B I3 3-2¢ (¢-34 ;)
Reoks: Fochs! N 3420 (x-3-20)
3 w3 =(x-ui)(x3) . - o
oL w-2v = (xE(¢-3) s “l'- et 3
: L 3 v 0 _3
JaL AT A V=X 3 -2 3P = |
V1N BX i L3 L] vk
' z % -3~

‘ -3
5) Sketch a graph for the éllowing situations.

a) A polynomial with 4 real roots .

NN

6) Solve: 3x*+5x+4=0
Dots not 4outh x-axis, $o yoi

(4 Siug\z reoks) ,»

b) A polynomial with 3 real 2 complex roots

J I 3 real smjll' roots
"Q complen roots

Mg+ ase gusdmiic A rmela|  (Bemember, ., tomplex
B ‘X""Li\/(b) ~dac a3 b5 c=y roots a.lwaﬂs Come.
2 in pairs !
X=(5) EN(5)*-4()H) _ "51:\]15’-—48 ~5t\l e

2(3)

G



Algebra Il

Chapter 8 Exam Review bt h)
‘ Ton 6
7) Divide the following. use rbo“;w/‘f\ Lw 5
(]
{"ﬂ\ A 2
)(x 3?43y 2 (x 2) J/ pavt )6x Tx” +11lx" =9x+2
- 3x-2
i x* |~ ] 1\ -

% || 2 |-xi] % —.—)\ 33-2 ] O B T
e e [ 0% — 222 7 IR BT P
3 = . | - ‘\o REE A T

X'=3x " +3x -2 - 793 1l -ax 42/

[’f"‘;:‘ Lng—xl* 3x- \J

x -1
x=1 X Fiwe N MissinG DPEAGREES

ax* | 3x | =5 wit™ D4t

3% *MBEW‘TS% xt 02 L X L X %

+\ x* | 3x | —5 @ X v 1 wt | x x "l X
s 2 | =1 o 1o [ ox -

(ox +lx =12ax -\

q X et ol e O +ox—~)
Ax +3x—~5 *34 53 2
(x FXO X EXAH] ]

8) Factor the following polynomials completely and find all the roots.

0 (6x° +11x* ~12x~1) +(3x +1) )

a) y=x*+2x* +10x* +18x+9 ¥ Remember +o 3m\oh on cadolater

Possible inteqrek ceeds ; F),43 19  fnd indegral reots )
Tndegrad roots ) ~| (dowbe reot) §
Knoww fetdors s (x+) L) O= (%)) (% ’\'c')
_Lq o
4j1 20 . A -ijtraq | e T
o -1 -9-9 ' -1 o -9 X=-{ ==l = |
v a ajo | ©9lo _ \}’x':ﬁ
=(x+\ YO HA%48)  S(xa ) (x24+4) - Reoks: E"(dr),-f?vg l¥| = 3t
=5 4y — 52 \
‘ b) f(x) X X X +‘4+ R O ‘(XJ-‘L)(X’*I)(X-Z)(XI"'K"") \ X - tgb
Pb‘ﬁ;\’\'- (’\'\‘Uj"’“\"'w‘\'S‘ t =2, = X+220 ¥-1206 %-220 vt l =0
Taveqrak veoks § -2, 1, L =D (k=) ¥22) =l jwm
o T r X &Y .
-2\1 0 -4 -1 04 MNi20 -2 21112 “T= 77 z
-2 4 © 74 - 1 -1 -2 . 17 Z"L
1L o -\ 2o | -1 -1 -2 |o L1 1o (,
\

) ()28 roxtox ) =(xaa)(x0) (X xtox-r) =(xr)A) () ()

Rosts ! g—,z, 1,2, -1EL/3
2




Algebra ll
Chapter 8 Exam Review

Answers:
1.a)7 2. a)-l(x+4)(x+3)(x—-2)2
/ 3
b) negative b) 4x(x—1)(x—4)(x+5)
c34 o R 4.2) x> -3x*+4x—-12
d)o,3,4-5 - : b) x> —6x+13
e) graph . . 5.Varies
3.a) —i 6. x =Ll—@
: : 6
b) 5-12i R : 7.8 HP-x+]
. c) 27+8i | b) 2x’ —x* +3x—1
d) —20i ) 2x*+3x—5+
. 3x+1
e) —14+12i d) x*+x° +x* +x+1

8. a) (x+1)2 (x2 +9);x =-1,3{,-3i

143
2

b) (x+2)(x—-1)(x~2)(x* +x+1);x=-2,1,2,



Chapter 10 Exam Review
Algebra 2 Name

Determine if the sequence is arithmetic or geometric. Write an expression for the n” of the

sequence. ‘ -§ ~§ -5
1. 3,6,9,12,.. Arithmetic (d= 3) 2. 2116,1L6,... Anthmet’C (d= '5)
an:3+3("") O, = 2 -5(n-1)
W AT a2.9 48 : : x3 x3 x3
3. 1,2,4,7,1L16,.. 4, 92{3\3,/1\0'8,... Besme e ( r= 3)
\ ’\-|
Neither On = 4(3)
-4 -4
ATAY

5.) ConSIder the serles 21+17+13+...+-99. Write an expression for the n” term.

an‘ ) -4(n) £ Nt derm oxpression

~a.) How many terms are in the series? -1no =~y n- ')
~4q = 2\~ (n-1) ~a ~q
-2 -2) 36 = n~ |
~12.0 :—4Ln—\) 3,..
b.) Find the sum of the series. '
a, ¢ 5, - (21+H°t)) = —1209
Q4 = —qﬂ B
n=3 /ggl Z“IQ,Oq)
6.) Find the sum of each series. - '
3 473
- a) 7/3'0%+ 73 b.) f:(10+5n) an‘S— |)+ \ =
On=1+3(n) 5, =%5(1473) _
13 = 743000 0, =10+50)= 15
-1 1 | Si=920 | Ous = 1O+5(15)= 85
b = 3(n-\)
R .15 (15485) =150
22 = n-| sl§' 9-(\ )

i

o

i

l

|

|

!

o

i

D

i

5
:



7.) Consider the series3125+625+125...+0.04. Write an expression for the n* term. —

— J—— n-l - _(,';Z_g— = ,L,
d—n ‘3/25(5) ~3125 |5,
. : { A
a.) How many terms are in the serles?h-] , N

0.04 =3125(% )" 0.0000128 = (L)

3125 315 . 5

N T amia o N 2 -uy

h-|
B‘)ﬂ“" ore B ms‘\.ﬂw ’°3 (o.oooona)f— /bj(f‘)

.} Find the sum of the series. i
S =3125(1-%)") l64 (s.0000n8)= (n-1) (64 (f)

Sa = 3906.24 | 76:-—%3'

8.) Findthe sum of each series.

i . | 12
a) 2916+972+324+..+4 - & = L | b) S 5120(2)"
e 3 )Z (%)

n=(2-)+1 =12
.= 5120(%)" "' = 5110

On=2916(3)""  log(im) e
L":,lq”‘(%)k-l ‘55(‘;) =n-\ S.’:QAN;S‘J—(;’)) all:glu(é)ll | - 2‘5
- - (l)\‘\ (’ = Nn- 1y
7247 V3 - S1=4377. _ 5120(1-(2)")
\ , \ -S"L (%)
9.) Foreach mﬁmtegeorr;;:c;s:arlecsim:md the sum. ‘ L gyL _ 10,237, 5
a.) 972+324+108, ... L= ) Sh600(2)™ |
L -
A
N2 N AL >
S.oq = —I_ - SOQ = l,,L - 3 = 800

10.) While sitting on the gymnasium floor, Levi through a basketball 40 ft. into the air. The
rebound ratio of the basketball is 0.7. If the ball is permitted to bounce forever, what is the

s+ bounce

+arels 80”

total distance the ball will travel? 80( /v:’/“"\
7 \ See = 1-07 = 0.3 ;@;(,ﬁk



Solutions:

1) 1(n)=3+3(n=1) or 1(n)=3n 2. t(m)=21-5(n-1) or t(n)=26-5n
3) neither a) 1(m)=4()" or t(n)=§(3)"

5) t(n)=21-4(n-1) or #(n)=25-4m 31 -1209

6) 920 750

7. t(n‘)=3125@"_1' or t(n)=15625(§)n.; 8; 3906.24

B) 4372 10237.5 ‘ | 9.) 1458 800

10.) 266.6 ft



Algebra 2 Name:
Chapter 12 Exam Review

Decide if each of the following statements are always true, sometimes true, or never true. If a statement is always true,
justify how you know; if it is sometimes true, give the exact values of x that make it true; and if it is never true, explain
why it is never true.

1) sin0=cos(zzr——6j A[WJU{S Arue. | 2) tanf=1 Semedrme Arue, .
Gragph = sinte) 4 = cos(Ex) tano=| ot T4 5”@”%)
Otelm
om calculador (mahanrj sr losk or
-—'+ TN for all sule
at Hhe dable. Same gaphs. ‘ “ s
For each of the following equations, find the solutiéns that lie in the-domain 0 € x < 2m.
WxTA T cuasT iz acuw‘ﬂ:éﬂi
3) 2sinf=+2 Y ‘LI. - 4) Zcos6 —-J_
e | Ret A % — Ret & =

V2
Sinb = 7

b /\/\} 63O =~ r
: -~ i
For each of the following equations, find all sofutions. —\ @I ! 7"— > 71%

5) 4sinf+2=0 6) 4cos’f—-4=0 - -
22 -2 CosO®=1 ¢os §=-|

' : : '%t H4cos?O: 4
4sin@ =2 e Veos o . |
4 4 \ o+ 0
. CosO =2/
Sing=-4% '
e ‘ B
7) Using the triangle below, find:

asmA:&E_P,_ﬂ: bsecA::‘T“_P:,c-—‘

e | S od) b c
C. cscB | __\.L. _ E— d tanB_ opp _ _b__ a

ope b o :\ O —I

‘ C 5 A
. . . . . Rewemboc

f the f : <x<2m.
For each o t‘e ollowing equations, find the solutions that lie in the domain 0 < x< 2n ,L_,\J%-_-_ \]j%
8) sec’0+3=4 Sec = + Sec@=-L 9 coto=\B . V3N 3

-3 -2 |

cose-\ w<9-~ tan @ = '
S.th'e = \

(secre =N

Cco)- ) {vw

sec @ =1 Tamore s Y4 2qrk"

he, enswec Space
* "“m gy (6r8éa) -




10) Rewrite each of the following expressions in terms of either sin(8) or cos(8).

s\n B
ces 6

a) tan(9) =

Verify each identity.

11) tan @sinBOcosBPcsc* =1

S5SN8 . sind, cos & _|
cos® | | SIND

5B o5

(56 -/_s)m/‘i@

b) !csc(ﬂ) =

l

1
ap——

sn B

11-14) Proofs ©

c) cot(9) =

O sy = ——

»

12) sin® @ +sin’ ftan® @ =tan’ @

sin*6 [ 1++on*0 | N

5in%0 [sec™ 0]

sin*6 - _|
N =)

<in 8 CoS 6

o »
! Sin*+b - l 16!,

| cos’E

i vy o st

14) sin(ﬁ+%)+cos(0+-§)=cos€ ’

COM,/T) '

csc?B | csct®
- _L_ Sin
) ces?te |- |
M,—nv—-v;i‘";: r;“mi-:'— e T T
:LQ Sin 6 ! Ze
- Cos*®
ANSWERS
1) Always true 2) Sometimes true, § = % + an,ST” +27k 3) 6= Z—, 3—4—
a) 9=2217 5) 0=2% 22,17 L om 6) 6 =0+27k,z+27k
66 6 6
Ml m s 79 192 ' 8) 6= 0N
c _ b b a S
‘ T manas 77 sin @ 1 cosé 1
9) 6=— “,— -m 10a 10b) —— 10¢c} —— 10d
) € 6 6 , ) 7] ) siné ) siné ,.)

cosd



